P1

P2

P3

P4

PS5

P6

P7

P8

P9

P10

P11




(mm)

(y s) =20.00kN/m3
©) =350 2,000
(5 =@ /2) =17.50
©) =0.00kN/m2
oo 2,000
(y 2) =18.00kN/m3
() =25.0
©) =0.00kN/m2
(0F) =2.5m
(y 1) =19.00kN/m3 7,100
(@) =35.0
© =0.00kN/m2
(0F*)  =0.6m 8,000
(ga0) =300.00kN/m2 1%F
(b )=0.6 2800 | 3,400 |
(Cb) =0.00kN/m2 ’ r T
( 5 =¢ ) %&7 0
) 4,042
(€ ] %
(y ¢)=24.50kN/m3
( mm)
1) =
2) =142 5.
3) =400 [h)
4) =7,100 (o ck) =24.00N/mm2
5) =3,500 (o ca) =8.00N/mm2
6) =4,042 (o cat) =0.00N/mm2
7) =200 (t al) =0.23N/mm2
8) =700
9) =100 6.
15,0) =00 (€)) =100mm
. (@) =110mm
1) =1 1.0
2) =2,000mm
1) =10.00kN/m2
2) =
1) =0.00kN/m2
2) =0.00kN/m2 Ce d
d(mm) | 300 | 1,000 | 3,000 | 5,000 | 10,000
( Ce 1.4 1.0 0.7 0.6 0.5
Ei; (Kn)=0.0 Cpt Pt
[ (Ho)]=2.500m Pt(%) | 0.1 0.2 0.3 0.5 |1.0
( ) Cpt | 0.7 | 0.9 | 1.0 | 1.2 1.5
Cdc
a/d 0.5 1.0 1.5 2.0 2.5
Cdc | 6.4 | 4.0 | 2.5 | 1.6 1.0
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0,1,2...1,i+1,...N)
[i1.y[iD

A ( )
ly(y 1 )
Ix(x 1 )

A=1/2 ¥ (xil yi-xi yil)
ly=-1/2 ¥ (yil-y){xi"2+1/3 (xil-xi)(xil+2 xi)}
Ix= 1/2 ¥ (xil-xi){yi"2+1/3 (yil-yi)(yil+2 yi)}

xil=x[i+1] , xi=x[i]
yil=y[i+1] , yi=y[i]

1.
A( ) =6.64m2
W ( )=y ¢ A =162.73kN
ly(y 1 )=19.69m3
Ix(x 1 )=15.64m3
x ( )=ly/A =2.965m
y ( )=Ix/A =2.355m
2.
A( ) =5.97m2
W ( )=y A =119.31kN
ly(y 1 )=10.28m3
Ix(x 1 )=9.85m3
x ( )=ly/A =1.722m
y ( )=Ix/A =1.652m
y ¢( ) =24.50kN
y s( ) =20.00kN
4 5

x(m) y(m)
0 0.000 0.000
1 0.000 0.700
2 3.400 0.900
3 3.500 0.900
4 3.642 8.000
5 4.042 8.000
6 4.042 0.900
7 4.042 0.000

x(m) y(m)
0 0.000 0.700
1 0.000 2.500
2 3.532 2.500
3 3.500 0.900
4 3.400 0.900
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0,1,2...1,i+1,...N)
I[i1.yLiD

A ( )

ly(y 1 )

A=1/2 ¥ (xil yi-xi yil)

ly=-1/2 3 (yil-yD){xi"2+1/3 (xil-xi)(xil+2

xil=x[1+1] , xi=x[i]
yil=y[i+1] , yi=y[i]

xi)}

) x(m) y(m)
0 0.000 0.000
1 0.000 0.700
2 3.400 0.900
3 3.500 0.900
4 3.500 0.000
®) x(m) y(m)
0 0.000 0.000
1 0.000 0.700
2 3.050 0.879
3 3.050 0.000
() x(m) y(m)
0 0.000 0.700
1 0.000 2.500
2 3.500 2.500
3 3.500 0.900
4 3.400 0.900
® x(m) y(m)
0 0.000 0.700
1 0.000 2.500
2 3.050 2.500
3 3.050 0.879

W ) LAx( )
y ¢( ) =24.50kN
vy ( ) =20.00kN
()
®
- A(Mm2) W(kN) ly(m3) X(m)
1. ) 2.81 68.84 5.13 1.825
2. (S) 2.41 59.01 3.81 1.583
3. () 5.94 118.80 10.19 1.715
4. (S) 5.22 104.33 7.82 1.498
1 2
N |
4
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(Pp)
y Ho"2
(Pa) Pp=Kp -------- +2 CV Kp=138.60kN
2
W sin(w - )-c L cos@
Pa=----—--—m oo =246.26kN y ( ) =18.00kN/m3
cos(w-¢ -a -0 ) Ho( ) =2.500m
C ( ) =0.00kN/m2
1+sing
q( ) =10.00kN/m2 Kp=----=---——- =2.46
w ( ) 1-sin@
( )
W ( ) =621.90kN
w( ) =58.20
o ( ) =35.00
a ( ) =0.00
( a=0 )
o ( ) =17.50
c ( ) =0.00kN/m2
( ) =11.766m
Ph( )=Pa cosd =234.86kN
Pv( )=Pa sind =74 _05kN
y( ) =2.667m
x( ) =4.042m
 246.26KN
\ (kN)
//
/ 58.20
\ H X y V X Hy
162.73kN 0.00kN 2.965m 2.355m 482 .41kNm 0.00KNm
119.31kN 0.00kN 1.722m 1.652m 205.50kNm 0.00KkNm
74 _05kN 234 _86kN 4.042m 2.667m 299._32KkNm 626 30KNm
-—= (138.60kN) -—- -—- -—- -—-
356.09kN 234 _86kN - - 987.23KNm 626 30KNm
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1.
(Fs)
Vo p +Cb Be+0.5 Pp
FS=— -~ =1. 20
Ho
Vo ( ) =356.09kN
Ho ( ) =234_86kN
Ho( ) =0.60
Ch ( ) =0.00kN/m2
Be ( ) =2.027m
( >0 = (B)-2x ()
( <0 = (®)
Pp ( ) =138.60kN
Fs 1.5
( )<1.5
2.
)
Mr - Mo
o T =1.014m
Vo
Mr( ) =987.23kNm
Mo( ) =626.30kNm
Vo( ) =356.09kN
R O)
e=B/2-d =1.007m
R
1/3
©) ie} B/6
1e1>B/6 =0.674m
( 1/3
3.
(@
2 Vo
g=------- =234.21kN/m2
3d
Vo( ) =356.09kN
d ( ) =1.014m
ql,q2
ql’qz an( )=300kN/m2
0K ( )
q1( ) qa0(=300kN/m2)
q2( ) qa0(=300kN/m2)

234.2

/

0.0kN/m2

/m2
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(qu)

qu=a K cNcSctk g Ng Sg+1/2 y 1 B Be Ny

o) o O 9o

2 [¢) —h =h [

~ N o W N N =
(wv] AN
~

v (

Sc,Sq,Sr(

Sc
Sq
Sy
A,

=C"MA
:q'A

=B" "

M (

c"= c/10
q"= g/10
B"=Be/1

Vo

Be

Vo(
Be(
Vo/Be
ga(
qu(
n(

qu
ga = --——-

)
=140.3 Be/L)

=1-0.4 Be/L)

)
(Be/L>1

=y 2 Df

)=B 2 eB

,Be/L
=1+0.3 Df"/Be)=1.089

)
(tand )

)= -1/3

Sy =150.05kN/m2

=150.05kN/m2
=19.00kN/m3
=18.00kN/m3

)
=2.500m

=0.00kN/m2
=45_00kN/m2
=2.027m
=4.042m
=1.007m
=1.12

=0.84
=5.000m

=1 )

=8.9
4.7

=0.7

=35.0
=0.660(=33.4 )
=234..86KN
=356.09KN

=1.000
=0.606
=0.790

=1.000 (

1l c
=4.500 ( , 1 q"
1 B

=2.027 (.,

=356..09kN/m
)=2.027n
=175.66kN/m2
)=50.02kN/m2
=150.05kN/m2
=3

)=0.600m
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(
10.00kN/m2
v=74.05kN
Ph=234_86kN
0.0kN/m2 w =58
34.21kN7/m2

0 ( =35.00
w ( =58.20
a ( =0.00

( =0.00 )
5 ( =17.50
o +5 ( =17.50
Ph( =234..86kN
Pv( =74 .05kN

=234.21kN/m2
=0.00kN/m2
=0.00kN/m2
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-1-1. ( )
1.
c
@ ©
(H=7.100m)
(Pa)
P @
W sin(w-¢ )-c L cos@
Pa=-——--=—mmm e =201.90kN
cos(w - -a -0 )
Ph( ) =Pa cos(d +a ) =192.55kN [ ]
Pv( ) =Pa sin(d +a ) =60.71kN
Ph
Kh( e =0.382
1/2 y s H"2
Pv
Kv( e =0.120
1/2 y s H"2
( ) =516.14kN
w( ) =57.92
? ( ) =35.0
a ( ) =0.00
o ( ) =17.50
c( ) =0.00kN/m2
( ) =10.740nm
y s( ) =20.00kN/m3
(b) « ) [ 1
(H=7.100m)
Q) ®
M( ) =Ph h =455.71kN m
S( ) =Ph =192.55kN
Ph( ) =Pa cos(d +a ) =192.55kN
h ( ) =2.367m
H=1/4 H=2/4 H=3/4
1.775m 3.550m 5.325m 7.100m
12.03kN 48_14kN 108.31kN 192.55kN
0.592m 1.183m 1.775m 2.367m
7.12kNm 56.96KkNm 192. 25kNm 455.71KkNm
18.17kN 37.88kN 59.13kN 81.93kN
0.00kN 0.00kN 0.00kN 0.00kN
0.875m 1.727m 2.558m 3.372m
0.00KNm 0.00KNm 0.00KNm 0.00KNm
0.00kN 0.00kN 0.00kN 0.00kN
0.000m 0.000m 0.000m 0.000m
0.00KNm 0.00KNm 0.00KNm 0.00KNm
2 7.12kNm 56.96kNm 192 _25kNm 455.71KkNm
2z 12.03kN 48_14kN 108.31kN 192 .55kN
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-1-2. ( )
(e)
y (As) D320100: .98N/Lm2
AS=—mm e =7,754mm2
o sa (d-x/3)
o sa( )=160.00N/mm2
X
6 M 15
X3-3d X2~ (=nmmmmmm ) (x-d)=0 m
gsab
X=224mm
=D32mm =@100mm
7,942mm2
2 M
oc( e e =10.98N/mm2 ( o ca=8.00N/mm2)
b x(d-x/3) (m)
d-x
o s( )=n ¢ ¢ ------=156.57N/mm2 ( o sa=160.00N/mm2)
X
Sh
T m( )=——————- =0.39N/mm2 ( 1 a=0.46N/mm2)
bd
T a( )=t al Ce Cpt=0.46N/mm2
M( ) =455.71kN m
b( ) =1,000mm
d( - ) =442mm
15 As 2bd
e -1+ (Q------- ))=227mm
b 15 As
M
Sh( )=S ----- (tanp +tany )=171.93kN
d
S ( ) =192.55kN
tanp ( ) =1.15
tany ( ) =0.00
T al ( =0.23N/mm2
Ce ( d ) =1.319 (0.5 Ce 1.4)
Pt ( ) =1.797%
Cpt ( )=1.500 (0.7 Cpt 1.5)
- H=1/4 H=2/4 H=3/4
1.775m 3.550m 5.325m 7.100m
0.435m 0.471m 0.506m 0.542m
7.12kNm 56.96kNm 192.25kNm 455.71KkNm
(©) 12.03kN 48.14kN 108.31kN 192.55kN
(sh) 11.61kN 45.07kN 98.85kN 171.93kN
137mm2 1,047mm2 3,397mm2 7,754mm2
3,971mm2 3,971mm2 7,942mm2 7,942mm2
0] D32@200 D32@200 D32@100 D32@100
0.33N/mm2 2.25N/mm2 5.36N/mm2 10.98N/mm2
6.27N/mm2 45.11N/mm2 72.23N/mm2 156.57N/mm2
0.03N/mm2 0.12N/mm2 0.24N/mm2 0.39N/mm2
0.48N/mm2 0.47N/mm2 0.46N/mm2 0.46N/mm2
Ce 1.380 1.359 1.339 1.319
Pt(%):Cpt 1.184%:1.500 1.070%:1.500 | 1.954%:1.500 | 1.797%:1.500
0K 0K 0K
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-1-3. : ( )

Q)

(As) 172
(L) (3509 ) - L1+35¢
1/2 -L2
( (As) 1/2 )
@ (L1 )
As My
e @
2 o sa (d-x/3)

(€D) [ y=5.620m]
L1=h( )-y =1.480m
L1+35@ =2.600m

h ( ) =7.100m
o ( ) =32mm
(b) (L2 )
o sa d-x
---=—==N 0 C -----—- (@)
2 X
(@) [ y=4.360m]
L2=h(  )-y =2.740m
As ( ) =7,942mm2
Khys
My ( )z--mmmee- y™3
6
o sa( ) =160.00N/mm2
d ( )
2 My
0O CE————————————-
b x (d-x/3)
15 As/2 2bd
Xz mmmmmen [-14V (L#=-mmmmm- )
b 15 As/2
Kh ( ) =0.382
ys( ) =20.00kN/m3
y «( )
(Lo)
Lo( )=Max(L1+35¢ ,L2)=2.740m

L1( )

As/2=3,971mm2

x 10 (mm2)

L2( )

o sa/2=80.00N/mm2

x 10 (N/mm2)

(m

(m
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-2-1. ( )
(b)
(As)
@ M
() e =4,038mm2
o sa (d-x/3)
(H) H72
S=-Wc-Sv+Qs =192.75kN
Mo ) =455 71KkNm
We( ) =59.01kN o sa( )=160kN/m2
Sv( )= =104.33kN d ( - ) =790m
0s( )=Ls (q1+g3)/2=356.09kN
Ls( H/2 ) =3.041m X
q1( ) =234.21kN/m2 6 M 15
q3( H/2 ) =0.00kN/m2 x"3-3d x"2-(-------—- ) (x-d)=0
osab
(D) x=254mm
M=-Wc x1-Sv x2+Qs x3 =557.96kNm
=D25mm: =@125mm
We( ) =68.84kN (A) 4,054mm2
Sv( ) =118.80kN
Qs( )=Lo (ql+g4)/2=356.09kN
Lo(ql g4 ) =3.041m
g4( ) =0.00kN/m
x1=1.675m:x2=1.715m:x3=2.486m 2 M
o c( )= - =5.07N/mm2
b x(d-x/3)
d-x
o s( )=noc ----- =159.47N/mm2
D25@125:5.07N/mng o /m2 X
/////////// KN/m2
///////// M( ) =455 . 71KNm
- b( ) =1,000mm
o ac - ) =790mm
15 As 2b d
X=-———= (-1+/ (A+----—-- ))=255mm
( H/2 ) b 15 As
- H/2 V(kN) x(m) Vx(kNm) ( H/2 )
—_ —_ 50 01 — —_ T m( )=S/(b d)=0.24N/mm2
— -——- | -104.33 | --- — s( ) =192.75kN
234.21 0.00 356.09 -— -— d( - ) =769mm
- - 192.75 - -—
Pt( )=A/(b d)=0.527%
( ) « o)
- V(KN x(m Vx(KNm tca
() Wi (km) T ca=T1 al Ce Cpt Cdc =0.32N/mm2
--- --- -68.84 1.675 -115.34
-—- -—- -118.80 | 1.785 -212.09
234.21 | 0.00 | 356.09 | 2.486 885.39 T al( ) =0.23N/mm2
- - Ce ( d ) =1.132
168.45 3.312 557.96 Pt ( ) -0 527
Cpt ( )=1.216
Cdc ( [a/d] ) =1.000
- a ( : =2.705m
455.71kNm - d ( ) =0.790m
192.75kN -—-
4038mm2 — [ 10 1]
4054mm2 -—
0 D25@125 -—-
5.07N/mm2 8.00N/mm2
159.47N/mm2 160.00N/mm2
0.24N/mm2 0.32N/mm2
0K -—
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